8

4.764

5.297

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 Hips 1
1.1 RX_24F 3
1.2 Hip Anchor 1
1.3 90592A006 HEX NUT M2.5x0.45 25
1.4 91290A10] SOCKET HEAR CaF SCREW 24
1.5 Hip L 4
1.5.1 Sheet -
2 RX_24 to_MX_64_2 2
2.1 RX_24 _to_MX_64 1
2.1.1 RX_24F 1
2.1.2 RX_24 E 1
2.1.3 MX_64_H 1
2.1.3.1 Sheet -
2.1.4 90592A006 HEX NUT M2.5x0.45 4
215 91290A101 SOCKET HEAD CaF SCREW 12
2.2 MX_64R 1
2.3 91290A099 10
2.4 MX_64 _E 1
2.4.1 Sheet -
KET HEAD CAP SCREW
25 91290A10] SOC W 5xO.C4:5x 65C 4
2.6 90592A006 HEX NUT M2.5x0.45 4
2.7 RX_24 H 1
2.7.1 Sheet -
2.8 91290A011 SOCKET T/\EQ%.EQP SCREW 18
3 Shoulder ]
3.] RX_24F 2
3.2 Shoulder Anchor ]
Shoulder Anchor
°front SOCKET HEAD CAP SCREW |
- Rkl SOCKET %%S'éX:P SCREW o
3.5 91290A101 M2 550 A5x4 20
3.6 90592A006 HEX NUT M2.5x0.45 20
4 Front_leg 2
4.1 RX_24F 2
4.2 RX_24_E to RX_24 2
43 RX_24 H 2
4.3.1 Sheet -
SOCKET HEAD CAP SCREW
- kel SOCKET %%g'éxﬁP SCREW x
4.5 91290A101 M550 A5x4 8
4.6 90592A006 HEX NUT M2.5x0.45 8

4.431

3.898

1.409

3.036

1.627

2.974

2.927 2.002

3.036

1.409

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
JON TORREY. ANY REPRODUCTION IN
PART OR AS A WHOLE WITHOUT THE
WRITTEN PERMISSION OF JON TORREY
IS PROHIBITED.

NEXT ASSY

APPLICATION

2

USED ON

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL +

ANGULAR: MACH+  BEND #

TWO PLACE DECIMAL  #
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL

FINISH
SPRAY PAINT

DRAWN
CHECKED
ENG APPR.
MFG APPR.
Q.A.

COMMENTS:

J.TORREY 8/18/14

TITLE:

SIZE DWG. NO.
D Lynx
SCALE: 1:1.5WEIGHT:

1

REV

B

SHEET 1 OF 1

REV
B

Lynx

D



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


